                                                                            ********************************            

                                                                                         Operator Precedence

                                                                            ********************************

· Q. How is the algorithm understood , from just seeing the top of the stack that a valid right side rule is not a Handle ?
· For the grammar : E(E+E | E*E | id

·               ……….Precedence Of Operators matters here.

*****************************

           Operator Precendence Parser :

        ***************************

· Operator Grammar :

(1) no epsilon

(2) no two non-terminals should be side by side (A( B Op C , this is not valid).
Example(1) of an operator grammar : E( E+E | E-E | id

Table for precedence of  operators

	
	+
	-
	$
	id

	+
	.>
	.>
	.>
	<.

	-
	.>
	.>
	.>
	<.

	$
	<.
	<.
	
	<.

	id
	.>
	.>
	.>
	


Example(2) of an operator grammar : E( E+E | E*E | id

Table for precedence of  oprators
	
	+
	*
	id
	$

	+
	.>
	<.
	<.
	.>

	*
	.>
	.>
	<.
	.>

	id
	.>
	.>
	
	.>

	$
	<.
	<.
	<.
	


· There are 3 types of precedence :

(1) a .> b

(2) a <. b
         .

(3) a = b

       Note(1):   If  a .> b ,  then that does not imply that b <. A
       Note(2):   if the precedence of the operators is same ,then we should check for the associativity.

     ***********************

              Input String Plain

     ***********************
    * check topmost terminal (a) in the stack with front of input (b).

                   -if  a <. b

                                   then   push <. And  b into the stack.

                    -if  a .> b 
                       10 :         then pop till you find a  <. And store it in a string (S)

                                            pop the  <. Sign also. Reduce the string (s)  and compare the top of the stack (a) with front of the input (b)

                                             -if a <. b

                                                            then push  <. And string (S) into the stack

                                              -if a .> b 

                                                            then push the string(S) and goto 10.

   Grammar : E( E+E | E*E | id.

   Input : id1 + id2 * id3 $

	
	stack
	input
	action

	1
	$
	id1 + id2 * id3 $
	shift

	2
	$<.id1
	      + id2 * id3 $
	Reduce by E(id

	3
	$<.E
	      + id2 * id3 $
	shift

	4
	$<.E+
	         id2 * id3 $
	shift

	5
	$<.E+id2
	               * id3 $
	Reduce by E( id

	6
	$<.E+E
	               * id3 $
	Shift 

	7
	$<.E+E*
	                  id3 $
	Shift

	8
	$<.E+E*id3
	                        $
	Reduce by E( id

	9
	$<.E+<.E*E.>
	                        $
	Reduce by E(E*E

	10
	$<.E+E.>
	                        $
	Reduce by E+E

	11
	$E
	                        $
	accept


